Attica Intermediate Classical Greek

IL.

Exercise Eight Key

Form Identification. Identify the following forms. List all possibilities.
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amoAoynoeoOat: fut. mid. (deponent) inf. of dmoAoyéopa

pnxavwpévnv: acc. sing. f. pres. mid./pass. (deponent) part. of pnxavdopot
onOnoav: 34 pl. aor. pass. ind. of olopat

1yetto: 34 sing. imperf. mid./pass. (deponent) ind. of 1)yéopat

ovoav: acc. sing. f. pres. part. of eijl

€A00vTec: nom./voc. pl. m. aor. act. part. of égxopat

xonoaoOat: aor. mid. (deponent) inf. of xodopat

avadavnodpevov: acc. sing. m. or nom./acc./voc. sing. n. fut. pass. part. of dvadaivw
éaoat: aor. act. inf. of éaw

ytyvouvto: 34 pl. pres. mid. (deponent) opt. of yiyvouou

KaTyoQelv: pres. act. inf. of katnyogéw

noet: 31 sing. pluperf. act. ind. of olda

Yoayag: nom./voc. sing. m. aor. act. part. of yoadw

amnyy€AOn: 31 sing. aor. pass. ind. of anayyéAAw

KkuPepvnoete: 3+ sing. aor. act. opt. of kupegvdw

nvB€oOat: aor. mid. (deponent) inf. of TuvBa&vopat

Aéyotev: 31 pl. pres. act. opt. of Aéyw

katayndilonoBe: 2nd pl. aor. mid. (deponent) subjunc. of katayndilopat
reaxOévtwv: gen. pl. m./n. aor. pass. part. of medTTw

vevéoOw: 3 sing. aor. mid. (deponent) imperative of yiyvouo

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the dictionary in the back of this textbook.
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yuvaika: Yuv, yovatkog, 1); woman, wife

NoéAnoa: é0éAw, é0eAnow, N0éANoa, NOEéANKa, ---, --- ; wish

dddvaL ddwWUL dwow, Edwka, dEdwWKA, dDEdoUaL, EDOONV; give

AVTOUWHOKWG: AVTOUVULL, ---, AVTIWHOOR, AVTOUWOUOKA, ---, --- ; Swear in turn
edefaunv: déxopal déLopal, Edelauny, ---, dédeypal, -edéxONV; receive, accept
adpavioOnvart adpaviCw, adpaviw, Ndavioa, neavika, nddviouat, ndavicdnv; make
unseen, hide from sight; disappear (pass.)

duynoaocBat duyéopat, dupyrjoopal, duyynoauny,---, dujynuay, --- ; discuss in detail
(nrovow: (Ntéw, (nmow, éCoa, éCnka, éCrtnuat, éCntmonv; seek

TEKUNOLOL: TEKUTOLOV, -0V, TO; proof

00vTeC: DDWUL, dWow, EdwKa, dEdwKa, dDEdoAL, €DOONV; give

BaocavicOnvat pacaviCw, Bacaviw, Epacavion, ---, Pefacaviopatl, éBacavicdny;
question by applying torture, torture

daokovoav: paokw; (only pres. and imperf.) claim, allege, say (+ acc./inf. construction of
indirect statement)

eiAndota: AapBavw, Apouat, EAafov, eiAnda, eiAnuual éANdOny; take, seize, catch
Baoaviotag: Bacaviotig, -ov, O; questioner, torturer

dovvat: didwiL, dwow, Edwka, DEdwKA, dEdOoUaL, EDOONYV; give
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16. Nélwoav: akidw, aliwow, Néiwoa, Néiwka, NElwpat NEwONV; think worthy; think
worthy of (+ gen.); think <someone> worthy <to do something> (+ acc./inf.)
17. gpovAniOnoav: fovAopal, PovArjoopat, ---, ---, BePoVANUAL, €BovANOnV; wish, prefer

18. efnokel éEapréw, EEagréow, EENokeoa, ---, ---, - ; suffice, be enough
19. Epevyov: pevyw, pevéouat, édpuyov, médevya, ---, --- ; flee
20. aiteioOat aitéw, aitow, Roq, ka, Nrnual Yony; ask, demand
I Accent Drill. Place the correct accents on the following words and justify your choices.
1. tovtols: Pronouns, like nouns, take persistent accents (R1.5). Because the ultima is long,
the accent on the penult must be an acute.
2. &yd: Pronouns, like nouns, take persistent accents (R1.5).
3. kak@: Adjectives take a persistent accent (R1.5). First- and second-declension nouns and

adjectives that take an acute on the ultima in the nominative singular will have a
circumflex in the genitive and dative cases, singular and plural (R1.5.4).

4. niounjoete: Verbs have a recessive accent (R1.4). Since the ultima is short, the antepenult
may be accented (R1.4.1.1).
5. petégxopat: Verbs have a recessive accent (R1.4). Since the ultima is short, the

antepenult may be accented (R1.4.1.1). Remember that final —at and —ot are considered
short for the purposes of accentuation.

6. Aafetv: 2 aorist infinitives always have a circumflex on the ultima.

7. avaxalot Verbs take a recessive accent (R1.4). While final —a1 and —ot are considered
short for the purposes of accentuation, there are two exceptions: the optative ending —ot
and the word oirkot. This verb is an optative form and hence the ultima is long. The
penult receives the accent (R1.4.1.2).

8. €¢0eAdvtwv: Participles, like all adjectives, have a persistent accent (R1.5). In the
nominative singular, the present active participle is accented on the last syllable of the
verb stem (¢0éAwV). In the genitive plural, because the ultima is long, the accent must
shift one syllable. Cf. £€0éAovtog (gen. sing.) vs. é0eAdvtwv (gen. pl.).

9. Paoavw: Nouns have a persistent accent (R1.5). The noun is accented on the antepenult
in the nominative singular. Because the ultima is long, the accent must shift to the penult
(R1.5.2)

10. ntatol: Nouns have a persistent accent (R1.5) and no change is needed for this noun.

11. aAnOewxv: Nouns have a persistent accent (R1.5). Because the ultima is short, no change
is needed.

12. éxéAevov: Verbs have a recessive accent (R1.4). Because the ultima is short, the

antepenult take the accent (R1.4.1.1).

Iv. Translation Strategy Practice. Each of the following sentences contains the same future more
vivid condition but in four of the sentences a substitution has been made for the future indicative,
which is most often found in apodosis of this condition (R10.6). Determine the type of
substitution has been made, then translate the sentence.

1. gov EMelEw TNV TovTWV UNTéQA POVER OVOAV TOV TUETEQOV TATQEOGS, TLUWENTOHEOA
TOLG VOUOLG TOILG THETEQOLS KAT EkeElvV TQ TEOVIKOTL.
No substitution has been made in this standard future more vivid condition.
If I show that the mother of these men is the murderer of our father, we will avenge our
laws and that dead man.
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2. gorv EMDelEw TNV TOVTWV UNTéQa POVER OVOV TOD T)UETEQOL ATEOG, TLUWETIoAcOEe
TOIG VOHOLS TOIC DUETEQOLS KAT EKEVEW TQ TEOVNKOTL.
Substitution: aorist imperative tipworjoacOe has been substituted for the expected
future indicative.
If I show that the mother of these men is the murderer of our father, avenge your laws
and that dead man.

3. gorv EMdelEw TNV ToVTWV UNTéQa POVER OVOAV TOD T)IETEQOL TATQEOGS, TLLWENOTWLED X
TOLG VOHOLG TOLG T|HETEQOLS KAT EkeElvw T TEOVIKOTL.
Substitution: hortatory subjunctive (with an aorist subjunctive) (R8.1) has been
substituted for the expected future indicative.
If I show that the mother of these men is the murderer of our father, let us avenge our
laws and that dead man.

4. gov emdeléw v TovTV PNTéa Povéa oVOAV TOD T)LETEQOL TIATQOG, TIHWENTaieOa
AV TOIG VOLOLG TOIC HETEQOLS KAl EKelvw TQ TeOVNKOTL
Substitution: potential optative (with an aorist optative) (R8.5) has been substituted for
the expected future indicative.
If I show that the mother of these men is the murderer of our father, we would avenge
our laws and that dead man.

5. el yaQ TIHweEnoaipeOa Tolg VOUOLS TOLG TJUETEQOLS KAl Ekelv TQ TeOvNKOTL, €0tV
Emeilw TV ToVTWV UNTéQa PoVéa oVOAV TOV TUETEQOVL TATEOG.
Substitution: optative of wish (with an aorist optative) (R8.4) has been substituted for the
expected future indicative.
May we avenge our laws and that dead man, if I show that the mother of these men is the
murderer of our father.

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. TG YOQ &V TG €V eldein Tadg;
For how would someone know these things well?
eldein: 3 sing. perf. act. opt.; potential optative (R8.5)

2. 1 unne avtov anaAlaxOein av g aitiac.
His mother might be released from the charge.
anaAAax0Oein: 3+ sing. aor. pass. opt.; potential optative (R8.5)

3. el 10€AoVV T AvdEATIOdA TTAEAdODVAL, AVTA AV TADTA HEYLOTA TEKUTIOL TTAXQELXOVTO
WG 0UK &€voxol eloL T GOV.
If they were willing to hand over the slaves, they would offer this very situation (literally,
“these things themselves”) as the greatest proof that they were not complicit in the
murder.
ntapelxovro: 34 pl. imperf. mid. ind.; apodosis of a present contrary to fact condition
(R10.5)

4. €uov BéAovTog EAeyxov AaPelv TOD MEAYHATOS avTtol ovk NOéANoav dovval.
Though I was willing to participate in a cross-examination of the situation, they
themselves did not wish to allow it.
BéAovtoc: gen. sing. m. pres. act. part.; participle in a genitive absolute (R6.5)

5. 1Oe0AV OLKEIOV TO KAKOV AVAPAVNTOUEVOV (OTE CLWTIWUEVOV Kol &PaTAvVIoTOV
avto Eaoal éfovAndnoav.
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They knew that the evil matter would be shown <to be> belonging to their own house so
that they wished to allow it <to be> kept silent and unexamined.

avadavnodpevov: acc. sing. n. fut. pass. part.; participle in a participial construction of
indirect statement (R7.2)

£BovAnOmnoav: 31 pl. aor. pass. (deponent) ind.; indicative in an actual result clause
(R12.1)

TEQL TV YEVOUEVWYV TERACOH AL VULV ditnynoaoBat aAnOewav.

I'shall try to discuss with you in detail the truth about what happened.

duynoaoBat aor. mid. (deponent) inf.; complementary infinitive (R5.3)

1) U1t tov adeAdov fjobeto v 100 PAdvew maAAaknv &AdkoOVHEVNV OO Ekelvou.
The mother of my brother learned that Philoneus’s concubine was being treated wrongly
by that man.

aduovpévnv: acc. sing. f. pres. pass. part.; participle in participial construction of
indirect statement (R7.2)

peta delmvov 1) maAAakr) €BovAeto avtoic T0 Paopakov dovval.

The concubine wished to give the drug to them after dinner.

dovvau: aor. act. inf.; complementary infinitive (R5.3)

1 maAAakn) 1) o0 PLAdvEw TNV OTTOVOTV Ao €YXEOVO N EKELVOLS EUXOUEVOLS EVEXEL TO

ddopakov.

Philoneus’s concubine was pouring in the drug at the same time as she was pouring the
libation for those men as they were praying.

gyxéovoa: nom. sing. f. pres. act. part.; circumstantial participle (R6.2)

0 AT O €UOG TNV AOAlay Kal TeAevTaiory vOOOV VOOV améfavev.

My father died since he was sick with a wretched and fatal illness.

VOOo@V: nom. sing. m. pres. act. part.; circumstantial participle (R6.2)

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what it is incorrect, and write a correct translation.

Ol 0& KVPeQVEéoeLev EKELVOV.

Justice should guide that man.

Correct translation: May justice guide that man.

Error: This is an optative of wish (R8.4) not a potential optative (R8.5), which requires dv.
1 maAAakr) évoplev et doin mAéov Tov Ppagudov T PLAOVew, LaAAov ArjoeoBat
UTI0 TOL PLAOVEW.

The concubine thinks that if she gives more of the drug to Philoneus, she will be loved by him
more.

Correct translation: The concubine was thinking that if she gave more of the drug to
Philoneus, she would be loved by Philoneus more.

Error: The main verb is in the imperfect tense, not the present tense. All subordinate
verbs must be parallel.

VUELS O'0V TV amokTEVAVTWY €0Té Ponbol, dAAX TV €k povolag AmoOvnokovTwV.
Don’t you be helpers of the killers, but rather be helpers of those who are being deliberately killed.
Correct translation: But you are not helpers of the killers, but rather are helpers of those
who are being deliberately killed.

Error: éote is an indicative form, not an imperative form. The imperative form is €ote.
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4. gxcelvn 1) ko) TG dKALOTATNG TG &v TUXOL.
That woman met the most just vengeance.
Correct translation: That evil woman might meet the most just vengeance.
Error: éxeivn 1) kaxr) works together as a unit (1] kaxr) was omitted in translation); av
oot indicates that this is a potential optative (R8.5).

5. el €0éAoLev T AvdpATOdA TTAEAdOLVAL, AVTX AV TADTA HEYLOTA TEKUTOLA TTAQEXOLVTO
WG 0UK &€voxol eloL T GOV.
If they wished to hand over their slaves, they offered these things themselves as the greatest proofs
that they were not complicit in the murder.
Correct translation: If they should wish to hand over their slaves, they would offer these
things themselves as the greatest proofs that they were not complicit in the murder.
Error: This is a future less vivid condition (R10.4), not a simple past condition (R10.2).
Note the optative forms.



